Midterm Practice

Circle the best answer.
C 1. Which item can be given as a statement
in a proof?
A Given -

Nno
0P
B Def. of comp. DQ

C msZ1 +ms2 =180°

G\ 2. Given the partially completed two-column
proof, which is the reason for Step 3?

Statements Reasons
41.74—55@ 1. Given
@0 0-/\ 2. FB=EF 2. Given
W e T —
~, SO 3. AE=EF 3. ?

F Def. of midpoint
G Trans. Prop. of =

i— 3. If AKLM = ARST find the value of x.

B
W =412
it T s
A 18 Bx—ﬁ =4S
B 45 3x =54
X =D

G\ 4. Given: LA= 4D, £B=LE, |
£C=/F, AB=DE, BC=EF,
and CA = FD. Which is a correct

congruence statement? g
F ABCA = ADEF KAAL po-r TS

~ nee & 4o
G AABC = ADEF S N ng.
ABC = DEF

KEN

Name:

Use the figure for Exercises 5 and 6.
¥ LW+ LT =\G0
L\ T 11 = (%0

L — (0D ¢
5. WXYZis a parallelogram. Which is A
m£W?
A 68°
B 112°

6. WXYZis a parallelogram. What is the E__

value of Xx? gy = o=
F7 @x+\l=6%
G10  Dx =5
x =7
7. Which similarity postulate or theorem lets A
you conclude that AJKL ~ AMNQ? B

A AA
B SSS
8. What is the length of AC ? &
o
4 80 50 S:\M: \&f AS
-
S e &0 =
F 10 AC _AB
G 12 DF OF
H 15 X = 20
30 S5O0
5ox = (oo
X =12 - AL
O Sc o \e Loctav = N2>
olda
—=5© =25
20>




%~L—u\ “\(x--)) &—

Choose the bést answer.

C. 1. PQ is the perpendicular bisector of MN.
(ox+| = lox -
5 = 4x
4s =X

L 2. IfmZLJK = 28°, what is m£LMLK?

. Y LL4+90+ 22, =120
. ~ LA el
7 LM =202
=24

F 56° H 124°
G 62°

____/_S__ 3. A segment has endpoints S(—4, —3) and
T(2, —-9). Which equation represents the
perpendicular bisector of the segment?

y+6=1x+1)
By+9=1x-2)
Cy+3=1x+4)
B 4. Point Zis the circumcenter of ARST.
Whatis TZ?
: ESKR

o Z

i

09X,

F3 H5
G 4

s(-w,-3) T(2,-7)

!

ST Slopa =—a_(-3) _=¢ _ _,
2= L

5. Point Kis the incenter of APQR.
What is m£RKQ?

4B $50 +30 =80

. Le=10
5 5 £02£Q =130 -50 15
zpe@ =S
A 100 C 125
B 115

H

6. Which must be true?

F mZPQY =m«£ZRQY
G m«LPRZ =m«ZRPX

HQJ/=2JY
7. Where do the altitudes of ATUV meet? __A___
‘;0 8 =
lope TU=%/y =-2
3 pavpan dicw\av
bbbl ] N\ X sla?"—"""l
S \w 5 +2=12(x +8)
p BT A - Ualo+)
oL HpSY ; %4—2 = ‘/2(%)
@0, 2) cE1 Tgtr=d
B (0, 1.5) 3=
8. PQ is a midsegment of AABC. G
Which statement is impossible?.
A
o
P
B
o
YFap-pc  YH PQ|BC
AG PQ=BC
PR=12BC

avpendicwl\or

Slepe = [




_F

x+30 rix =g 5x =150
X =30
Choose the best answer.

1. The consecutive angles of a parallelogram
measure (x + 30)° and 4x°. What is the
measure of the smallest angle?

A 10° C 60°

B 30°

2. PQRS is a parallelogram. Find x.

=72v+3

X+=3x-\"2
1=2%x — =¥

A 3. PSTVis a parallelogram and Vis the
midpoint of PR.

S/\T

Q

el

Which is NOT necessarily true?

ATR=TV Yc OB ||TV
VB QS=SP

N,

v

4. Which quadrilateral MUST be a
parallelogram?

Sl
RN

5. In quadrilateral WXYZ, £W = £Y. Which

information would help to prove that .__g’_
WXYZ is a parallelogram? LD
A WY =XZ C £X= zzﬂ
LX =W
p-¢7 2 4
6. Which MUST be a square? F
F H
G[H T
» i

7. Which is NOT necessarily a rhombus?

8. Quadrilateral RSTU is a parallelogram.
What other information would allow you
to prove that RSTU is a rectangle?

F Opposite angles are congruent.
G Opposite sides are congruent.
H The diagonals are congruent.

9. Three sides of a kite measure 8 inches,
10 inches, and 8 inches. What is the
perimeter of the kite? ad A wp =

A 26 in. C 36in. Lorgey
B 28in.

<
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